





$$\mathbb{L}' \mathbb{L}' = \begin{cases} \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}}} \\ \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}}} \end{cases}$$

$$\begin{cases} \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} \\ \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}}} \end{cases}$$

$$\begin{cases} \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} \\ \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}}} \end{cases}$$

$$\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \begin{cases} \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} \\ \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}}} \end{cases}$$

$$\begin{cases} \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} \\ \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}} = \mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'^{\mathbb{L}'}}} \end{cases}$$

